



soustraction de fractions (fraction appropriée) (fraction impropre)

Nom: _____

Date: _____ Note: _____

$$\frac{3}{9} - \frac{1}{8} =$$

$$\frac{7}{2} - \frac{6}{4} =$$

$$\frac{5}{6} - \frac{3}{7} =$$

$$\frac{2}{5} - \frac{1}{6} =$$

$$\frac{7}{3} - \frac{5}{7} =$$

$$\frac{4}{5} - \frac{1}{8} =$$

$$\frac{6}{5} - \frac{4}{6} =$$

$$\frac{5}{2} - \frac{3}{6} =$$

$$\frac{3}{2} - \frac{1}{9} =$$

$$\frac{6}{9} - \frac{3}{6} =$$



soustraction de fractions (fraction appropriée) (fraction impropre)

Nom: _____

Date: _____ Note: _____

$$\frac{3}{9} - \frac{1}{8} = \frac{5}{24}$$

$$\frac{7}{2} - \frac{6}{4} = 2$$

$$\frac{5}{6} - \frac{3}{7} = \frac{17}{42}$$

$$\frac{2}{5} - \frac{1}{6} = \frac{7}{30}$$

$$\frac{7}{3} - \frac{5}{7} = \frac{34}{21} = 1\frac{13}{21}$$

$$\frac{4}{5} - \frac{1}{8} = \frac{27}{40}$$

$$\frac{6}{5} - \frac{4}{6} = \frac{8}{15}$$

$$\frac{5}{2} - \frac{3}{6} = 2$$

$$\frac{3}{2} - \frac{1}{9} = \frac{25}{18} = 1\frac{7}{18}$$

$$\frac{6}{9} - \frac{3}{6} = \frac{1}{6}$$